FOM 12 4.3 — Permutations When All Objects Are Distinguishable
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Example 1: You have 10 books and need to put 4 of them on a shelf.

a) How many ways are there of selecting and ordering the books?
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d) What if I have 7 books and | can select  of them?
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Example 2: Matt has downloaded 10 new songs s from an online music store. He wants to create a

playlist using 6 of these songs arranged in any order. How many different 6-song playlists can be created
from his new downloaded songs?
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[ And For Your Information: 0! = 1 (proofis on page 249} il(
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Example 3: Tania needs to create a password for a social networking website she registered with. The
password can use any digits from O to 9 and /or any letters of the alphabet. The password is case
sensitive, 50 she can use both lower — and upper-case letters. A password must be at least 5 characters
to a maximum of 7 characters, and each character can be used only once in the password. How many

different passwords are possible?
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Example 4: A social insurance number (SIN) in Canada consists of a nine-digit number that uses the
digits O to 9. If there are no restrictions on the digits selected for each position in the number, how many
SIN’s can be created if each digit can be repeated? How does this compare with the number of SIN’s that

can be created if no repetition is allowed?
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Example 5: At a used car lot, seven different car maodels are to be parked close to the street for easy
viewing.

a) The three red cars must be parked so that there is a red car at each end and the third red car is
exactly in the middle. How many ways can the seven cars be parked?
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b} The three cars must be parked side by side. How many ways can the seven cars be parked?
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Assignment: Pg. 255 #1 — 4 (ALL}), #5— 13 (ODDS), #15, 16 Extension (#17,19-21)



